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G (Concert F)

ises in

Chorales & Tuning Exerc

Interval Tuning

1 Intervals from tonic (major 3rd, perfect 4th, perfect 5th)

2 Intervals of a major 3rd on the I-IV-V-I chord progression
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3 Intervals of a perfect 5th on the I-IV-V-I chord progression
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Chord Tuning
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Chorale 3 (full band)
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D

F

ises in

.

Chorales & Tuning Exerc

Interval Tuning

1 Intervals from tonic (major 3rd, perfect 4th, perfect 5th)
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2 Intervals of a major 3rd on the I-IV-V-I chord progression
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3 Intervals of a perfect 5th on the I-IV-V-I chord progression
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Warm-Up Set 1

Options 1, 2, & 3
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